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QUESTION 1

You are creating a Boot Policy to have your Cisco UCS Server boot from SAN. What option shows the correct process?
A. Include a vHBA in the Boot Order list, provide a Boot LUN ID, and Provide the WWPN address for the Boot Target
B. Include a vHBA in the Boot Order list, provide a SAN ID, and provide the WWPN address for the Boot Target

C. Include two vHBASs in the Boot Order list (vVHBA-A and vHBA-B for redundancy), provide a Boot LUN ID for each
VHBA, and provide the WWPN address for the Boot Target

D. Include two vHBASs in the Boot Order list (vHBA-A and vHBA-B for redundancy), provide a SAN ID, and provide the
WWPN address for the Boot Target

Correct Answer: A

QUESTION 2

You are creating a Local Disk Configuration Policy to be used by a new Service Profile for your UCS Server. Previous
Service Profile had a Local Disk Configuration Policy set up for 'No RAID\\' and the “Protect Configuration\\' box was
checked. This time, you choose "RAID 1\\' and deselect the “Protect Configuration\\' checkbox.

What are the implications of this change?

A. The Service Profile association process will fail because you cannot change from "No RAID\\' to "RAID 1\

B. The Service Profile association process will fail because the policies are different and the “protect configuration\\
option was checked

C. The Service Profile association process will succeed, but your total disk capacity will be cut in half due to the change
from RAID O to RAID 1

D. The Service Profile association process will succeed, but it will adopt the previous Local Disk Configuration Policy
instead of the new one because it had “protect configuration\\' checked

Correct Answer: B

QUESTION 3

Which unique identity resources requires Stateless computing?
A. UUIDs, MAC Addresses and WWNs

B. VLANS, VSANS, Hypervisors and IP Addresses

C. Virtual IP Addresses

D. Service Profiles and Application Policies

Correct Answer: A
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QUESTION 4

Which Cisco UCS core element maintains the UCS XML database?
A. Cisco Finite State Machine

B. Cisco Data Management Engine

C. Cisco UCS Manager

D. Cisco Application Gateways

Correct Answer: C

QUESTION 5

Which primary functions are provided by VSANs?

A. Independent fabric services per VSAN and zoning

B. Software-based isolation of traffic and independent fabric services per VSAN
C. Hardware-based isolation of traffic and independent fabric services per VSAN
D. Specific driver configuration and FSPF routing

Correct Answer: A
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